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Question 1 : (3+3+3)

1
1. Find lim (6—2“” - 2x) e
z—0Tt

2. Compute /(:L‘5 + 1) Inzdz.

\\— -

3. Evaluate the integral / sin®

x cos® zdz.

Question 2 : (2+3+3)

cos(2x)
y d
1. Compute / aesl 52) T

3r+1
2. Find the indefinite integral ———————de‘
(4 + 22)2

:I:2
3. Evaluate / —dz.
' z2—z—2

Question 3 : (2+3+3)

" | / dz
1. Evaluate the integra —_—
" & V22 4 62 + 13

dz
2. Compute | —5 1"
423 4+ 23

+00 e % q
the integral —————dx converge?
3. Does the integ /0 (1 e e—x)Q

Find its value if it does..
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Solution Midterm 2 Math 106
Question 1 :
1.
1 In(e~2% 2
lim (¢7-22)% = lm e T (1)
z—0%t z—0t
—2¢=2%_3
= lim ee - =¢™4 (2)
z—0t
2. By parts
5 £L'6 1135
/(x +1)Inzdz = (E +z)lnz ~/(F +1)dz (2)
6 6
= (%—i—w)lnw—%—-m—}-c (1)
3.
/sinsxcossmdx = —/us(l—u2)2du (1.5)
— _E? -+ QEL_E y_li +c
B 9 . 11 13
11 13
cos’r _costx  cos
= - — .(1.5
g TP 3 T8
Question 2:

1.

cos(2z) .
/ sec(5x_)dx =Jcos(2x) cos(5z)dz
%/(cos(?um)—i—cos(?w))dz (1)

sin(3z)  sin(7z) _
= 5 + 14 +c (1)
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L 3r+1

\'A{ " LT ds w=ahpnil %/(6sin9+c050)d9 (2)
A I (4 +22)2
P

J
[QEAS TR Y
2 = % pece - j‘_ (e lanot)) P4

1;£m9+_f_$fn@*c
4 4

S -l—l Z —+ec (1)
\/44—..'1:2 44422

%
3. x? n-u-1
2 2 'x”:-rw_ﬂ} 1
/_z___dz = /___:c—dz w+L
2-z-2 (@+1)(z-2) 2 g
‘ 1 4 i @
= - de (2
/(1 3(m+1)+3(x—2)> z (2)

= x—%lnlx+l|+§lnlz—2|+c. 1)

Question 3 :

1.

dz _ dz
./\/:c§+6m+13 B /\/(:c+3)2+4 @)

= sinh™! (%3:\) +c (1)

dz z—-t /
= 3 5 (2)
/4:33 + m3 4+1

1
3 _1t 3 _11133

= 5 = = — — . (L
= 2tan (2)—|—c Qtan (2)+C ()

400 e~ % t:e_": 1 dt‘
/0 e /0(1+t)2 5. (C)+(1)
Gt \xh(‘_’_——x —_—> \/Z.j

(ImFl{thQ\~{ S'oj- Vel
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